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1 Kyle scores 84 marks out of 96 in an examination. 

 

 Work out his percentage mark. 

 

 

 

 

 

 Answer  %  [1] 

 

 

2  

 

 

 The lengths of each side of this triangle are the same. 

 

 (a) Write down the mathematical name for this triangle. 

 

 

 

 Answer(a)   [1] 

 

 (b) Write down the number of lines of symmetry for the triangle. 

 

 

 

 Answer(b)   [1] 

 

 

3 Work out the number of minutes from 18 27 on Tuesday to 03 19 on Wednesday. 

 

 

 

 

 

 Answer   min  [2] 
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4 Gregor changes $700 into euros (€) when the rate is €1 = $1.4131 . 
 

 Calculate the amount he receives. 

 

 

 

 

 

 Answer €   [2] 

 

 

 

5 w = 3a – 5b 

 

 Calculate w when    a = 2   and   b = –3. 

 

 

 

 

 

 

 Answer w =   [2] 

 

 

 

6 One bracelet costs 85 cents and one necklace costs $7.50 . 
 

 Write down an expression, in dollars, for the total cost of b bracelets and n necklaces. 

 

 

 

 

 

 

 

 Answer $   [2] 
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13 Shania invests $750 at a rate of 2
2

1

% per year simple interest. 

 Calculate the total amount Shania has after 5 years. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer $   [3] 

 

 

 

14 Without using your calculator, work out   1

6

5

+

10

9
. 

 You must show your working and give your answer as a mixed number in its simplest form. 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer   [3] 
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1 Work out the value of   

4.63.519.1

48

×−

. 

 

 

 

 

 Answer   [1] 

 

 

 

2 Write the following in order of size, starting with the smallest. 

 

0.83 

6

5

 82% 

28

23

 

 

 

 

 

 

 

 

 Answer  <  <  <   [2] 

 

 

 

3 The ferry from Helsinki to Travemunde leaves Helsinki at 17 30 on a Tuesday. 
 The journey takes 28 hours 45 minutes. 

 

 Work out the day and time that the ferry arrives in Travemunde. 

 

 

 

 Answer Day  Time   [2] 

 

 

 

4 T R I G O N O M E T R Y 

 

 From the above word, write down the letters which have 

 

 (a) exactly two lines of symmetry, 

 

 

 Answer(a)   [1] 

 

 

(b) rotational symmetry of order 2. 

 

 

 Answer(b)   [1] 
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8 A lake has an area of 63 800 000 000 square metres. 

 

 Write this area in square kilometres, correct to 2 significant figures. 

 

 

 

 

 

 

 Answer  km
2

 [2] 

 

 

9 (a) Simplify a
–3

 × a
8

. 

 

 

 

 Answer(a)   [1] 

 

 (b) Work out the value of   5
–2

. 

 

 

 

 Answer(b)   [1] 

 

 

10 The number of people, n, who attended a concert was 12 600 to the nearest 100. 
 

 Complete the statement about n. 

 

 

 

 

 

 Answer  Y n I=   [2] 

 

 

11 Keiko travels from Tokyo to London for the Olympic Games. 

 On the internet, a flight costs £767. 

 

 (a) Use the exchange rate  £1 = 143 Japanese Yen to find the cost of the flight in Japanese Yen. 

 

 

 

 

 

 Answer(a)  Yen [1] 

 

 (b) Write your answer to part (a) in standard form. 

 

 

 

 Answer(b)   [1] 
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17 Solve the simultaneous equations. 

 6x + 2y = 22 

   4x − y = 3 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 Answer x =    

 

y =   [3] 

 

 

 

18 The taxi fare in a city is $3 and then $0.40 for every kilometre travelled. 

 

(a) A taxi fare is $9. 

 

 How far has the taxi travelled? 

 

 

 

 

 

 Answer(a)  km [2] 

 

 

 (b) Taxi fares cost 30 % more at night. 

 

 How much does a $9 daytime journey cost at night? 

 

 

 

 

 

 Answer(b) $   [2] 
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1 Write 

5

2

 as a percentage. 

 

 

 Answer  %[1] 

 

 

 

2 Change 5.2 square metres into square centimetres. 

 

 

 

 

 Answer  cm
2

[1] 

 

 

 

3 Mohinder changes $240 into Rupees. 

 The exchange rate is $1 = 46.2875 Rupees. 

 

 Calculate how many Rupees he receives. 

 

 

 

 

 

 

 Answer  Rupees [1] 

 

 

 

4 (a) Write down the next prime number after 47. 

 

 

 Answer(a)   [1] 

 

 

 (b) Write down the next square number after 49. 

 

 

 Answer(b)   [1] 
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1 Write 

5

2

 as a percentage. 

 

 

 Answer  %[1] 

 

 

 

2 Change 5.2 square metres into square centimetres. 

 

 

 

 

 Answer  cm
2

[1] 

 

 

 

3 Mohinder changes $240 into Rupees. 

 The exchange rate is $1 = 46.2875 Rupees. 

 

 Calculate how many Rupees he receives. 

 

 

 

 

 

 

 Answer  Rupees [1] 

 

 

 

4 (a) Write down the next prime number after 47. 

 

 

 Answer(a)   [1] 

 

 

 (b) Write down the next square number after 49. 

 

 

 Answer(b)   [1] 
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5 I K = 

 

 Choose one of these symbols to make each statement correct. 

 

 (a) −15  −5  [1] 

 

 

 (b) (−5)
2

  25  [1] 

 

 

 

6 Hans invests $750 for 8 years at a rate of 2% per year simple interest. 

 

 Calculate the interest Hans receives. 

 

 

 

 

 

 Answer $   [2] 

 

 

 

7  

B

C D E

A

120°

82°

73°

x°

NOT TO
SCALE

 

 

 The diagram shows a quadrilateral ABCD. 

 CDE is a straight line. 

 

 Calculate the value of x. 

 

 

 

 

 Answer x =   [2] 
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1 (a) Vince and Wendy share $2000 in the ratio     Vince : Wendy = 19 : 21. 
 

 Calculate the amount of money that Vince receives. 

 

 

 

 

 

 

 Answer(a) $   [2] 

 

 

 (b) Wendy has $265 to spend on some chairs. 

 The chairs cost $37 each. 

 

 Work out the largest number of chairs she can buy. 

 

 

 

 

 

 

 Answer(b)   [2] 

 

 

 (c) Wendy shares $200 between her three children Jake, Karl and Lana. 

 She gives 27% of the money to Jake and 
5

2

 of the money to Karl. 

 

 Work out the amount of money she gives to Lana. 

 

 

 

 

 

 

 Answer(c) $   [3] 

 

 

 (d) Wendy invests $500 at a rate of 4% per year compound interest.  

 

 Calculate the total amount of interest she receives at the end of 2 years. 

 Give your answer correct to the nearest dollar. 

 

 

 

 

 

 

 

 

 Answer(d) $   [4] 
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1 (a) Vince and Wendy share $2000 in the ratio     Vince : Wendy = 19 : 21. 
 

 Calculate the amount of money that Vince receives. 

 

 

 

 

 

 

 Answer(a) $   [2] 

 

 

 (b) Wendy has $265 to spend on some chairs. 

 The chairs cost $37 each. 

 

 Work out the largest number of chairs she can buy. 

 

 

 

 

 

 

 Answer(b)   [2] 

 

 

 (c) Wendy shares $200 between her three children Jake, Karl and Lana. 

 She gives 27% of the money to Jake and 
5

2

 of the money to Karl. 

 

 Work out the amount of money she gives to Lana. 

 

 

 

 

 

 

 Answer(c) $   [3] 

 

 

 (d) Wendy invests $500 at a rate of 4% per year compound interest.  

 

 Calculate the total amount of interest she receives at the end of 2 years. 

 Give your answer correct to the nearest dollar. 

 

 

 

 

 

 

 

 

 Answer(d) $   [4] 
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1  Write 45% as a fraction in its simplest form.

 Answer  ...............................................   [1]

_____________________________________________________________________________________

2  One January day in Munich, the temperature at noon was 3°C.

  At midnight the temperature was  –8°C.

  Write down the difference between these two temperatures.

 Answer  .......................................... °C  [1]

_____________________________________________________________________________________

3 (a)  Calculate  5.7  – 1.032 .

  Write down all the numbers displayed on your calculator.

 Answer(a)  ...............................................   [1]

 (b)  Write your answer to part (a) correct to 3 decimal places.

 Answer(b)  ...............................................   [1]

_____________________________________________________________________________________

4  Pedro and Eva do their homework.

  Pedro takes 84 minutes to do his homework.

  The ratio     Pedro’s time : Eva’s time = 7 : 6.

 Work out the number of minutes Eva takes to do her homework.

 Answer  ........................................ min  [2]

_____________________________________________________________________________________

5  Write each of the following as a single vector.

 (a) 
6

1
e o + 

4-

2
e o

Answer(a)    e o     [1]

 (b) 4
3-

2e o
Answer(b)    e o     [1]

_____________________________________________________________________________________
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1  Write 45% as a fraction in its simplest form.

 Answer  ...............................................   [1]

_____________________________________________________________________________________

2  One January day in Munich, the temperature at noon was 3°C.

  At midnight the temperature was  –8°C.

  Write down the difference between these two temperatures.

 Answer  .......................................... °C  [1]

_____________________________________________________________________________________

3 (a)  Calculate  5.7  – 1.032 .

  Write down all the numbers displayed on your calculator.

 Answer(a)  ...............................................   [1]

 (b)  Write your answer to part (a) correct to 3 decimal places.

 Answer(b)  ...............................................   [1]

_____________________________________________________________________________________

4  Pedro and Eva do their homework.

  Pedro takes 84 minutes to do his homework.

  The ratio     Pedro’s time : Eva’s time = 7 : 6.

 Work out the number of minutes Eva takes to do her homework.

 Answer  ........................................ min  [2]

_____________________________________________________________________________________

5  Write each of the following as a single vector.

 (a) 
6

1
e o + 

4-

2
e o

Answer(a)    e o     [1]

 (b) 4
3-

2e o
Answer(b)    e o     [1]

_____________________________________________________________________________________
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13  Complete each statement with the correct mathematical term.

 (a)

This solid is a ........................................................  [1]

 (b)

This polygon is a regular ...............................................  [1]

 (c)

Angle ABC is an ............................................. angle  [1]

_____________________________________________________________________________________

14 (a)  The perimeter of a square is 28 mm.

 Work out the length of one side of the square.

 Answer(a)  ........................................ mm  [1]

 (b)  Calculate the volume of a cylinder with radius 5.2 cm and height 15 cm.

 Answer(b)  ........................................ cm3  [2]

_____________________________________________________________________________________

15  Bruce invested $420 at a rate of 4% per year compound interest.

  Calculate the total amount Bruce has after 2 years.

  Give your answer correct to 2 decimal places.

 Answer  $ ......................................   [3]

_____________________________________________________________________________________

A

B C
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16  Martina changed 200 Swiss francs (CHF) into euros (€).
  The exchange rate was  €1 = 1.14 CHF.

  Calculate how much Martina received.
  Give your answer correct to the nearest euro.

 Answer  € ......................................   [3]
_____________________________________________________________________________________

17  In this question use a straight edge and compasses only.
  Leave in all your construction arcs.

 (a)  Construct the bisector of angle ABC.

A

B

C
[2]

 (b)  Construct the perpendicular bisector of the line DE.

E

D

[2]
_____________________________________________________________________________________
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1

0 0.5 1.0

  Write down the number the arrow points to on the scale.

 Answer  ...............................................   [1]
_____________________________________________________________________________________

2

100         164         200         343         999
  Write down the cube number from this list.

 Answer  ...............................................   [1]
_____________________________________________________________________________________

3  Write down the next prime number after 23.

 Answer  ...............................................   [1]
_____________________________________________________________________________________

4  Calculate the number of seconds in 3 hours.

 Answer  ............................................  s  [1] 
_____________________________________________________________________________________4
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7  Sheila can pay her hotel bill in Euros (€) or Pounds (£).
  The bill was €425 or £365 when the exchange rate was £1 = €1.14 .

  In which currency was the bill cheaper?
  Show all your working.

 Answer  ...............................................   [2]
_____________________________________________________________________________________

8  Without using a calculator, show that   3
5

3  ÷ 2 4

1  = 1
5

3  .

  You must show each step of your working.

  Answer

[2]
_____________________________________________________________________________________

9  Factorise completely.
 6xy2 – 8y

 Answer  ...............................................   [2]
_____________________________________________________________________________________
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8 (a)  A train leaves Hamilton at 9.50 am and arrives in Wellington at 7.25 pm.

  Work out, in hours and minutes, the time taken for this journey.

Answer(a) ................. h  ................. min  [1]

 (b)  Write 7.25 pm using the 24-hour clock.

 Answer(b)  ...............................................   [1]

_____________________________________________________________________________________

9

  For the diagram, write down

 (a)  the number of lines of symmetry,

 Answer(a)  ...............................................   [1]

 (b)  the order of rotational symmetry.

 Answer(b)  ...............................................   [1]

_____________________________________________________________________________________

10  Write these numbers in order of size, starting with the smallest.

0.41         
7

3
         

22

9
         

π
7

         43%

Answer ................... < ................... < ................... < ................... < ...................  [2]

_____________________________________________________________________________________
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1  Write in fi gures the number one hundred and twenty one thousand and forty two.

 Answer  ...............................................   [1]
_____________________________________________________________________________________

2  Write down the number of centimetres in 2
2

1  metres.

 Answer  .........................................  cm  [1]
_____________________________________________________________________________________

3  Work out 72 cents as a percentage of 83 cents.

 Answer  ........................................... %  [1]
_____________________________________________________________________________________

4  There were 41 524 people at a football match.

 (a)  Write 41 524 correct to the nearest thousand.

 Answer(a)  ...............................................   [1]

 (b)  One quarter of the 41 524 people left before the end of the game.

  Find the number of people who left before the end of the game.

 Answer(b)  ...............................................   [1]
_____________________________________________________________________________________

5 (a) Write down the order of rotational symmetry of this shape.

 Answer(a)  ...............................................   [1]

 (b)  Draw the lines of symmetry on this shape.

[1]
_____________________________________________________________________________________
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9

55° p°

NOT TO
SCALE

  Find the value of p.

 Answer p =  ...............................................   [2]
_____________________________________________________________________________________

10  Calculate 17.5% of 44 kg.

 Answer  ..........................................  kg  [2]
_____________________________________________________________________________________

11 Find the value of

 (a) 94,

 Answer(a)  ...............................................   [1]

 (b) 60.

 Answer(b)  ...............................................   [1]
_____________________________________________________________________________________
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15  The length, p cm, of a car is 440 cm, correct to the nearest 10 cm.

 Complete the statement about p.

Answer ....................... Ğ p < .......................  [2]
_____________________________________________________________________________________

16
8    15    7    8    7    15    4    13    4    3    10    2    9    4    5

 (a)  Write down the mode.

 Answer(a)  ...............................................   [1]

 (b)  Work out the median.

 Answer(b)  ...............................................   [2]
_____________________________________________________________________________________

17  Bruce invested $800 at a rate of 3% per year simple interest.

  Calculate the total amount he has after 6 years.

 Answer $  ...............................................   [3]
_____________________________________________________________________________________


